Thousandths: S1

Adding Decimals
1) 9.053 + 0.189 = 2) 12908 + 40.735 =
3) 46.709 + 25.813 = 4) 7.675 + 99.342 =

3.128 + 82.071 = 6) 59.083 + 1.729 =

A fisherman caught a fish weighing 3.251 pounds and another fish weighing
2.508 pounds. What was the total weight of the fish caught?

a) 5.759 pounds b) 6.759 pounds c) 7.759 pounds

The ceiling height in a room was 8.532 feet, and after renovations, it was
raised by an additional 1.758 feet. What is the new height of the room?

a) 9.029 feet b) 11.39 feet c) 10.29 feet

In a quiz, Erin scored 56.121 points in level one and 89.514 points in level
two. What was Erin’s total score for both levels?

a) 415.369 points b) 145.635 points c¢) 140.157 points
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